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14.

1,178 7,907
4,062 8,351
9,313 6,177
9,926 8,063
7,774 2,583
3,714 4,121
1,370 9,445
6,369 9,733
4,410 1,310

.3,004 9,541

.3,256 3,833

.3,773 5,984

5,275 4,638
1,814 6,465

15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.

Name:

Date:

Teacher:

Class:

Comparing Numbers 503

66 6=6.

5,467 5,408
2,679 4,410
8,040 3,004
5119 3,256
4,386 3,773
2,620 5,275
8,484 1,814
3,485 4,062
7,270 9,313
9,349 9,926
3,064 7,774
2,812 3,714
4,194 1,370

28

29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.

What is gray, has a trunk and weighs about 5 pounds? A
mouse going on holiday.

Use < (less than), > (Greater than) or = (equals) signs
to make each statement TRUE.
Examples: 10 5 10>5.

5 10 5<10.

7,486 3,485
1,310 7,270
9,541 9,349
3,833 3,064
5984 2,812
4,638 4,194
6,465 6,273
8,351 2,679
6,177 8,040
8,063 5,119
2,583 4,386
4,121 2,620
0,445 8,484

© Facilitators Ferriswheel

Score:
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1,178 < 7,907
4,062 < 8,351
9,313 > 6,177
9,926 > 8,063
7,774 > 2,583
3,714 < 4,121
1,370 < 9,445
6,369 < 9,733
4,410 > 1,310

3,004 < 9,541
3,256 < 3,833
3,773 < 5,984
5,275 > 4,638
14.

1,814 < 6,465

15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.

Answer Key

Date:

Teacher:

Class:

Comparing Numbers 503

66 6=6.

5,467 > 5,408
2,679 < 4,410
8,040 > 3,004
5,119 > 3,256
4,386 > 3,773
2,620 < 5,275
8,484 > 1,814
3,485 < 4,062
7,270 < 9,313
9,349 < 9,926
3,064 < 7,774
2,812 < 3,714
4,194 > 1,370

28

29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.

What is gray, has a trunk and weighs about 5 pounds? A
mouse going on holiday.

Use < (less than), > (Greater than) or = (equals) signs
to make each statement TRUE.
Examples: 10 5 10>5.

5 10 5<10.

7,486 > 3,485
1,310 < 7,270
9,541 > 9,349
3,833 > 3,064
5,984 > 2,812
4,638 > 4,194
6,465 > 6,273
8,351 > 2,679
6,177 < 8,040
8,063 > 5,119
2,583 < 4,386
4,121 > 2,620
9,445 > 8,484

© Facilitators Ferriswheel

Score:



